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4) (7 marks) Use Green’s Theorem to evaluate _[C( xl-y )dx+ xydy , where the curve C

is the boundary the region enclosed between x=y--y* and PE&W, traversed once in
the counterclockwise direction . L=0

b) (8 marks) Use the Divergence Theorem to evaluate il S ( 3x%y? — y* +522 )dS , where

S isthe sphere x* +3y% +z%=1.
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5 marks) Verify Stokes’ Theorem for the surface S given by x? + 3y2 +z2=7, 222
and the vector field F(x,y,z)=(x,5x,yz) by explicitly evaluating both the relevant
line and surface integrals. .
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(10 marks}) Find the function f{?) that satisfies the conditions:
f"=-3f'-2f=0 , f(0)=-1 , f'(0)=5 anc [f*(0)=0"
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